ATTENTION: Lifting eyebolt (can be removed)

Eyebolt must be used
ONLY to lift the actuator,

NOT to lift actuator+valve! part "A

[T
[mij

58

n"4x(M5x8) n"4x(M6x10)

50
<>

1}

[mmij

mi

f—

Flange accessories connection

200

according to:
VDI/VDE 3845
UNI EN 15714-3

4 M6x12

S0

Part "A” scale 1:2

Access
accord
VDI/VD
UNI

ories connection
ing to:
E 3845

EN 15714-3

PORT 2

~n2x1/2" GAS
7

¢
N

PORT 4

— o
E L?Lﬁ%
5 n*4x(M6x10)

O

45

Part "B” sclae 1:2
Interface for directly

attached solenoid valve

according to:

VDI/VDE 3845

UNI EN

254

236

190 |

205

15714-3

8254 (F25)

8165 (F16)

4x(M20x30)

8x(M16x24)

Flange connection according to UNI EN ISO 5211

IRLC

SEMILAVORATO / SEMIFINISHED Vi TOLL. GENERALI/GENERAL TOLERANCE
NATERALE 7 WTERIAL >0 a6 +0,1
/4 >6 a 30 +0,2
PESO / WEIGHT (Kg) >30 a 120 +0,3
150 for DA / 192 for SR —
TRATTAMENTI / TREATMENTS >120 a 400 +0,5 |00 | EMISSIONE / EMISSION | 23/07/15 | Luciani G.
/ >400 +0,8 | M. | RIFMODIFICA/REF.MODIFICATION | DATA / DATE | FIRMA/SIGNATURE
SCALA/SCALE SWUSSI NON QUOTAT RACCORDL_ T 1 | DENOMINAZIONE 7 cmzo:_z\aw: Umm.moso a.m.s gombro
>N _\ﬂ\_@ 1:4 0,5x45"  [Rer Densioned Overall dimension drawing
DISEGNATO / DRN | DATA / DATE COMPLESSNO / ASSEMBLY
20000 sasuvo ) ey [ Luciani G. 23/07/15 AP12—APM12 (DA/SR) Polygonal connection

Via Ugo Foscolo 3/D
Tel. (02) 95761444 ra.

INTERNATIONAL Fax (02) 85761807-9

CONTROLLATO / CKD

DATA / DATE

CODICE / CODE

N DISEGNO / DRAWING N' |IM.
1032L—-P

P05.01—-4 REV.00.02

DISEGNO DI PROPRIETA’ DI SIRCA INTERNATIONAL S.rl. — E’ VIETATA LA RIPRODUZIONE SENZA AUTORIZZAZIONE




